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QUESTION 1

Which statement about the ADMIN_MOVE_TABLE procedure is true? 

A. The ADMIN_MOVE_TABLE procedure immediately applies all changes that occur to data in the active (source) table
during the move operationto the target table. 

B. The ADMIN_MOVE_TABLE procedure stores all changes that occur to data in the active (source) table during the
move to a user-suppliedstaging table so they can be replayed against the target table when the move is complete. 

C. If the ADMIN_MOVE_TABLE procedure is used to move data in an active (source) table to a target table that was
created beforehand, thetarget table is renamed (to the source table name) once the data has been copied into the target
table. 

D. If the ADMIN_MOVE_TABLE procedure is invoked with the KEEP option specified, the active (source) table will be
kept and if the target table isto be created automatically, a name that is different from that of the active table must be
specified for the target table. 

Correct Answer: C 

 

QUESTION 2

Which is a valid statement about the Row and Column Access Control (RCAC) feature? 

A. Users with SECADM authority are exempt from RCAC rules. 

B. The RCAC feature uses a subset of Label Based Access Control (LBAC) functionality. 

C. RCAC is a more powerful security mechanism than Label Based Access Control (LBAC). 

D. When a result set is restricted due to the RCAC rules defined on a table, no warnings or errors are returned. 

Correct Answer: D 

 

QUESTION 3

A table named SALES was created as follows: 

If management wants to use Label-Based Access Control (LBAC) to protect individual columns in the SALES table, and
the security policy needed (SEC_POLICY) has already been created, what must be done to protect the table as
desired? 

A. Associate the SEC_POLICY security policy with the SALES table. 

B. Add a SECURED WITH clause to every column in the SALES table. 
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C. Add a column with the DB2SECURITYLABEL data type to the SALES table and then associate the SEC_POLICY
security policy with the table. 

D. Add a SECURED WITH clause to every column in the SALES table and then associate the SEC_POLICY security
policy with the SALES table. 

Correct Answer: D 

 

QUESTION 4

You have an High Availability and Disaster Recovery (HADR) environment set up and you want to read from the
standby database. What must you do? 

A. Assign the value ON to the DB2_HADR_ROS registry variable. 

B. Assign the value ON to the DB2_HADR_SNAP registry variable. 

C. Execute the STOP HADR command to temporarily break the HADR connection to the standby. 

D. Execute the TAKEOVER HADR command to instruct the standby database to takeover as the new primary
database. 

Correct Answer: A 

 

QUESTION 5

A DB2 for AIX server has two instances named DEV and PROD. Each instance contains a database named
ACCOUNTS and a database named PAYROLL. What can be done to prevent a DB2 Discovery operation from seeing
the DEV instance and its databases? 

A. Set the DISCOVER_DB database manager configuration parameter for the DEV instance to DISABLE. 

B. Set the DISCOVER DB2 administration server (DAS) configuration parameter on the client to DISABLE. 

C. Set the DISCOVER DB2 administration server (DAS) configuration parameter on the server to DISABLE. 

D. Set the DISCOVER_INST database manager configuration parameter for the DEV instance to DISABLE. 

Correct Answer: D 
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